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22, Use the numbers and signs to wirife a number senfence.

(2 x 2 marks)
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26, Are the two shapes
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29, Colour the shortest pencii. (2 marks 3
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Section B (6 x 3 marks )

Solve the story sums,

Mother has 4 party nhats.
She buys 3 mere. |
How many hats has she citogether?
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2 hop away,
- How many frogs are left?
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(08

She has 3 atickers now.

How many stickers does she nead Yo buy.

%
7

7. John gave away 4 balloons.
He had 9 balloons left.
How many baljoons did he have af first?
|
| I
He had _ Cbaileons af first,

8. Jane needs 19 stickers,

——

She neeas to buy _
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